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Q) Two workers A and B working together completed a jobin 5
days. If A worked twice as efficiently as he actually did and

|
B worked — as efficiently as he actually did, the work would

3
have completed in 3 days. Find the time for A to complete
the job alone. i )
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(¢) 5 days (d) None of these
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EXAMS

Q) Two workers A and B working together completed a jobin 5
days. If A worked twice as efficiently as he actually did and

|
B worked — as efficiently as he actually did, the work would

3
have completed in 3 days. Find the time for A to complete
the job alone.
1 3
a) 6— days 5= days
@) & day (b) 7
(¢) 5 days (d) None of these

Ans: (a)
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Q) A contract 1s to be completed 1n 46 days and 117 men were

7 set to work, each working 8 hours a day. After 33 days, 4/7
of the work 1s completed. How many additional men maybe
employed so that the work may be completed in time, each
man now working 9 hours a day ?
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EXAMS

Q) A contract 1s to be completed 1n 46 days and 117 men were
set to work, each working 8 hours a day. After 33 days, 4/7
of the work 1s completed. How many additional men maybe
employed so that the work may be completed 1n time, each
man now working 9 hours a day ?

@ & (b 8l © & @

Ans: (b)
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Q) A and B can do a piece of work in 30 and 36 days respectively.
Theybegan the work together but 4 leaves after some days
and B finished the remaining work in 25 days. After how
many days did 4 leave? —— d%f 7
@ 6days (b) 5days (c) 11 days(d) 10U days
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Q) A and B can do a piece of work in 30 and 36 days respectively.
Theybegan the work together but 4 leaves after some days
and B finished the remaining work in 25 days. After how
many days did A4 leave?

(@) 6days (b) 5days (¢) 11 days(d) 1V days

Ans: (b)
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Q)Geo.rge takes 8 hours to copy a SQ page manuscript while 100 /’“ff‘b
Sonia can copy the same manuscript in 6 hours. How many
hours would it take them to copy a 100 page manuscript, if / 9)” 4
they work together ? /D 7 / A r
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Q) George takes 8 hours to copy a 50 page manuscript while
Sonia can copy the same manuscript in 6 hours. How many
hours would 1t take them to copy a 100 page manuscript, if

they work together ?
6 5
@ 6= () 9 © 95 @ 1

Ans: (a)
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Q)In an army camp ration is available for 100 soldiers for 10
days. After 2 days, 60 soldiers joined. Then, for how many
more days will the remaining ration last? /\

() 7 days (b) 6 days (%)
(c) 5 days (d) 4 days
o0 % 19 :Q%ﬁ)f@@@)
£60 o -

[
1=5/

Y




CDS 2 2024 - REVISION - MATHS - CLASS 4

Q)In an army camp ration is available for 100 soldiers for 10
days. After 2 days, 60 soldiers joined. Then, for how many
more days will the remaining ration last?

(a) 7 days (b) 6 days
(c) 5 days (d) 4 days

Ans: (c)
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Q) A 1s 40% more efficient than B and C 1s 20% less efficient
than B. Working together, they can finish a work 1s 5 days.
In how many days will A alone complete 70% of that work?

@ 9 (b)y 7 (¢) 10 (d) 8
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Q) A 1s 40% more efficient than B and C 1s 20% less efficient
than B. Working together, they can finish a work 1s 5 days.
In how many days will A alone complete 70% of that work?

@ 9 (b)y 7 (¢) 10 (d) 8

Ans: (d)
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Q) A can do 50% more work than B in the same time. B alone
can do a piece of work 1n 30 hours. B starts working and had
already worked for 12 hours when A joins him. How many
hours should B and A work together to complete the

remainmg work ?
(a) 6 hours (b) 12 hours
(c) 4.8hours (d) 7.2hours
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Q) A can do 50% more work than B in the same time. B alone
can do a piece of work 1n 30 hours. B starts working and had
already worked for 12 hours when A joins him. How many
hours should B and A work together to complete the
remainmg work ?

(a) 6 hours (b) 12 hours
(c) 4.8hours (d) 7.2hours

Ans: (d)



CDS 2 2024 - REVISION - MATHS - CLASS 4

Q) A can do a piece of work in 10 days, while B alone can do 1t
in 15 days. They work together for 5 days and the rest of the
work 1s done by C 1n 2 days. If they get I 450 for the whole
work, how should they divide the money ?

(@) ¥225,3150,375 (b) T250,3100,3100
(c) 200,3150,3100 (d) 175,175,100
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Q) A can do a piece of work in 10 days, while B alone can do 1t
in 15 days. They work together for 5 days and the rest of the
work 1s done by C 1n 2 days. If they get I 450 for the whole
work, how should they divide the money ?

(@) ¥225,3150,375 (b) T250,3100,3100
(c) 200,150,100 (d) T175,3175,3100

Ans: (a)
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Q) A and B are two taps which can fill a tank mdividually n 10
minutes and 20 minutes respectively. However, there 1s a
leakage at the bottom, which can empty a filled tank 1n 40
minutes. If the tank 1s empty nitially, how much time will
both the taps take to fill the tank with leakage ?

(a) 2minutes (b) 4 minutes
(c) Sminutes (d) 8minutes
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Q) A and B are two taps which can fill a tank mdividually n 10
minutes and 20 minutes respectively. However, there 1s a
leakage at the bottom, which can empty a filled tank 1n 40
minutes. If the tank 1s empty nitially, how much time will
both the taps take to fill the tank with leakage ?

(a) 2minutes (b) 4 minutes
(c) Sminutes (d) 8minutes

Ans: (d)
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Q)A certam number of persons can complete a work 1n 34 days
working 9 h a day. If the number of persons is decreased by
40%, then how many hours a day should the remaining
persons work to complete the work in 51 days?

(a) 19 (b) 8 (c) 12 (d) 10
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EXAMS

Q)A certam number of persons can complete a work 1n 34 days
working 9 h a day. If the number of persons is decreased by
40%, then how many hours a day should the remaining
persons work to complete the work in 51 days?

(a) 19 (b) 8 (c) 12 (d) 10

Ans: (d)
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Q)The efficiency of P is twice that of O, whereas the
efficiency of P and Q together 1s three times that of R. If
P, O and R work together on a job, n what ratio should
they share their earnings?
@ 2:1:1 b) 4:2:1
(c) 4:3:2 d 4:2:3
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Q)The efficiency of P is twice that of O, whereas the
efficiency of P and Q together 1s three times that of R. If
P, O and R work together on a job, n what ratio should
they share their earnings?

@ 2:1:1 b) 4:2:1
(c) 4:3:2 d 4:2:3

Ans: (a)
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Q)2 men and 1 woman can complete a piece of work m 14

days, while 4 women and 2 men can do the same work 1n
8 days. If a man gets I 90 per day, what should be the
wages per day of a woman ?

(a) < 48 (b) 60

(¢c) <72 (d T 135
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Q)2 men and 1 woman can complete a piece of work m 14

days, while 4 women and 2 men can do the same work 1n
8 days. If a man gets I 90 per day, what should be the

wages per day of a woman ?
(a) < 48 (b) 60
© 72 @ <135

Ans: (b)
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Q)P and O together can doa job in 6 days. O and R can finish

60

the same job 1n Kl days. P started the work and worked for

3 days. O and R continued for 6 days. Then the difference
of days in which R and P can complete the job 1s

@) $§ b) 12 © 10 (@ 15

EXAMS
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Q)P and O together can doa job in 6 days. O and R can finish

60
the same job 1n Kl days. P started the work and worked for

3 days. O and R continued for 6 days. Then the difference
of days in which R and P can complete the job 1s

@) $§ b) 12 © 10 (@ 15

Ans: (c)
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